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A Al & 7K =

_% E 37 48 58 6H 1R 8H 9A 108 1A 128

(Fm) | (Fm) | (Fm) | (Fm) | (Fm) | (Fm) | (Fm) | (Fm) | (Fm)
18 &8 ™ 632 614 633 599 626 624 595 622 603
2 b & T| 9,568 9,894 9,681 | 10,029 9,870 9,484 9,911 9,601 | 10,008
3 (& H HT 113 113 114 116 116 111 114 111 117
4 | Qb8 750 789 799 833 831 799 811 763 789
5/ @B F 313 314 314 322 320 312 336 314 326
6|2 B W 498 510 501 514 503 482 503 484 501
7% I H 111 103 121 106 99 94 89 97 88
8 (¥ B H 135 148 145 146 148 158 143 140 153
98 A 301 316 306 318 319 305 316 300 313
0@ =& @ 125 130 125 132 132 124 127 122 126
nE &4 440 456 444 463 460 438 451 433 449
122 B 743 760 762 772 772 753 757 750 753
13|48 & H 87 87 90 98 98 95 93 89 89
14|% @ @ 363 403 395 414 393 416 407 387 401
15 [K i@ = HT 225 220 229 224 238 234 220 230 221
16|E I H 301 313 301 304 307 299 307 295 300
17t » & B 144 153 145 130 129 139 139 129 134
18K %1 Hr 294 288 290 280 289 291 283 295 287
19X & # 74 76 75 72 70 69 70 68 70
20 & ™ 423 412 429 414 418 421 404 418 405
21|K | B 65 68 63 66 68 63 64 61 63
22\l T Hr 141 146 135 128 132 131 131 127 131




A Al A 7K = REAFEKIKRE (FERBIKE) a
18 | 28 | on | # |zem|E.B|oem|con| & |®Ees |3
(Fm) | (Fm) | (Fm) | (Fm) | (Fm) | (Fm) | (Fm) | (Fm) | (Fm) =
642 636 561 7,387 4,374 1,006 187 594 6,161 (18 &E Tl 1
9,926 8,926 9,884 | 116,782 | 87,789 | 20,268 1,114 271 | 109,442 (il & Th| 2
122 108 126 1,381 740 211 123 3 1,077 (#f H HT| 6
805 708 760 9,437 4,373 1,215 1,099 90 6,777 | il i@ ™| 8
331 298 376 3,876 2,087 273 758 3 3121 |1 H |11
501 449 494 5,940 4,403 1,097 116 18 5,634 |% & I |13
98 103 98 1,207 0 0 0 0 0|%Z JIl Hr|14
152 160 137 1,765 1,033 477 4 0 1,514 [#8 & Hr[15
317 284 335 3,730 2,337 458 109 0 2904 B & T|16
129 115 116 1,503 0 0 0 0 0@ & HI|17
445 464 400 5,343 0 0 0 0 0ol & |18
768 717 749 9,056 0 0 0 0 04 Hy m|19
90 91 88 1,095 0 0 0 0 o[h FHF HET|21
383 382 392 4,736 3,170 480 462 17 4,129 (%€ H HT|22
229 230 204 2,704 1,901 501 0 11 2,413 | K A [ H7|23
302 271 302 3,602 2,810 372 130 13 3,325 |E I |28
134 146 139 1,661 0 0 0 0 0|t ~ = Hr|34
298 304 280 3,479 2,117 563 305 34 3,019 K F1 HET|{36
71 66 73 854 0 0 0 0 0K & |52
432 428 393 4,997 0 0 0 0 0|8 & |56
66 57 71 775 0 0 0 0 0|X 4B Hr|58
133 120 145 1,600 859 310 27 34 1,230 [l st HT|59




A Al e} 7K =
E BERKS 4R 58 68 18 8H 9A8 108 118 128
(Fm) | (Fm) | (Fm) | (Fm) | Fm) | (Fm) | (Fm) | (Fm) | (Fm)
2310111 W HT 88 91 88 87 87 84 91 88 90
24 |®|  RF HT 351 362 346 358 359 339 347 337 350
A& ALE
25 K% 1,845 2,019 1,916 1,967 1,995 2,020 1,961 1,856 1,919
26 (8 BE HT 86 85 85 82 83 79 84 71 74
21\ £ HT 127 136 142 143 141 149 137 137 140
28 (i = HT 207 218 215 215 214 203 207 198 207
2% X m™ 764 789 766 799 810 760 773 747 780
VIE K| ™ 626 658 645 667 675 629 629 607 629
31|m = kB 176 184 179 196 189 177 183 175 184
2|1 B 220 227 221 226 223 213 218 200 208
B|K B ™™ 1,234 1,278 1,248 1,296 1,291 1,220 1,263 1,217 1,267
& H 21,570 | 22,360 | 21,948 | 22,516 | 22,405 | 21,715| 22,164 | 21,469 | 22,175
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A Al e 7K = &R KIR (ERFERKE) &
- . 7 o - &
18 | 28 | 38 | xEm §¥§ TIBA | zoM | B | BRHE (%
Fm) | Fod) | Eod) | F) | Eod) | Eod) | Fo) | Emd) | FEm) =
93 90 96 1,073 643 93 76 0 g2 ()il & HT|60
349 329 366 4,193 2,975 481 125 138 3,719 |#]  FF HT|63
A & oA
1,882 1,968 1,969 | 23,317 | 14,845 0 0 5,656 | 20,501 ||& 3 7k 3&|65
™ %
80 74 77 960 468 106 33 1 608 |8 RFk HT|[68
137 139 137 1,665 833 275 226 87 1,421 [ E HT|[70
213 193 212 2,502 1,674 143 110 145 2,072 |70 = HT|74
790 702 797 9,277 0 0 0 0 o1& %X |75
650 586 629 7,630 0 0 0 0 01228 |/ Th|76
187 166 183 2,179 865 417 113 4 1,399 (F@ = [ HET| 77
211 190 211 2,568 0 0 0 0 0| B H|78
1,299 1,157 1,293 | 15,063 0 0 0 0 0K & |79
22,265 | 20,657 | 22,093 | 263,337 | 140,296 | 28,746 5,117 7,119 | 181,278 = g




